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2701 

B.C.A. SECOND YEAR EXAMINATION, 2019 

BUSINESS ACCOUNTING  

Time: Three Hours 

Maximum Marks: 100 

 

Answer of all the questions (short answer as well as descriptive) are to be given in the main 

answer-book only. Answers of short answer type questions must be given in sequential order. 

Similarly, all the parts of one question of descriptive part should be answered at one place in 

the answer-book. One complete question should not be answered at different places in the 

answer-book. Write your roll numbers on question paper before start writing answers of 

questions. 

Question paper consists of three parts. 

All THREE parts are compulsory. 

                     PART – A      [Marks: 20] 

(Very Short Answer) 

Consists 10 question of two marks each. 

Maximum limit for each question is up to 40 words. 

                     PART – B                          [Marks: 20] 

                                                     (Short Answer) 

Consists 5 question of four marks each. 

Maximum limit for each question is up to 80 words. 

 

                        PART – C                           [Marks: 60] 

                                                     (Long Answer) 

Consists 5 question of twelve marks each with internal choice. 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 (a) What do you mean by Accounting concepts and conventions? 

  ys[kkadu  vo/kkj.kkvksa rFkk ijEijkvksa ls vki D;k le>rs gaS\  

 (b) What are objectives of Financial Accounting?  

 foÙkh; ys[kkadu ds D;k mís’; gSa\  

 (c) Why the journal of a big business is sub - divided?  

  cM+s O;olk; dh tuZy D;ksa mi & foHkkftr dh tkrh gS\   

 (d) “The Cash Book is both a Principal book and Subsidiary book of accounting 

books.” Elucidate this statement.  

  ^^jksdM+ iqLrd ys[kk iqLrdksa dh iz/kku iqLrd rFkk lgk;d iqLrd nksuksa gŜ ^ bl dFku dh 

O;k[;k dhft;sA  

 (e) What is Trial Balance? What are the objects of preparing it?  

  ryiV D;k gS\ blds cukus ds D;k mís’; gSa\  

 (f) Why is the reserve for “discount on creditors” not considered a ‘provision’? Give 

reasons. 

  ^^ysunkjksa ij cÎs ds fy, dks"k^^ cukus ij mls ^vk;kstu^ D;ksa ugha ekuk tkrk\ dkj.k nhft,A  

 (g) What do you mean by ‘Fictitious Assets’? Explain with examples.  

  Ñf=e lEifÙk;ksa ls vki D;k le>rs gSa\ mnkgj.k lfgr crkb;sA  

 (h) What do you mean by closing entries and opening entries?   

  vfUre izfof"V;ksa rFkk izkjfEHkd izfof"V;ksa ls vkidk D;k rkRi;Z gS\  

 (i) Why and how ‘Average clause’ is applied in Policy?  

  ^vkSlr okD;^ ikWfylh esa D;ksa vkSj dSls ykxw fd;k tkrk gS\ 

 (j) Why is it necessary to provide depreciation?  

  ewY; & âkl vifyf[kr djuk D;ksa vko’;d gS\  
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    

Q.2 Explain role of an Accountant in the society. 

 lekt esa ,d ys[kkiky dh Hkwfedk dks le>kb;sA 

Q.3 What do you mean by Accounting Systems? Describe each system in brief.   

 ys[kkadu dh fof/k;ksa ls vki D;k le>rs gaS\ izR;sd fof/k dk laf{kIr esa o.kZu dhft,A  

Q.4 What do you mean by Bank reconciliation statement. Give reasons for the difference 

between the balances of Cash Book and Pass Book?  

 cSad lek/kku fooj.k dk vFkZ crkb;sA crkb;s fd jksdM+ cgh vkSj ikl cqd 'ks"k esa vUrj ds dkSu ls 

dkj.k gaS\  

Q.5 Explain differences between “Balance Sheet” and “Trading and Profit – Loss Account.”  

 ^fpV~Bŝ  rFkk ^O;kikfjd o ykHk&gkfu^ [kkrs eas vUrj crkb;sA  

Q.6 What types of losses are considered under Consequential Loss Insurance?  

 ifj.kkeh gkfu chek ds vUrxZr dkSulh gkfu;k¡ 'kkfey gks ldrh gaS\  

PART – C @ @ @ @ [k.M [k.M [k.M [k.M & & & & llll    

Q.7 Define Accounting. Who are the users of accounts and state briefly the information 

needs of them.   

 ys[kkadu dks ifjHkkf"kr dhft;sA  ys[kksa ds mi;ksxdÙkkZ dkSu gSa ,oa mudh lwpuk lEcU/kh vko’;drkvksa 

dks la{ksi esa crkb;sA  

OR @@@@vFkokvFkokvFkokvFkok 

 Write short notes on the following - 

 fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k;s & 

 (i) Convention of consistency  

  ,d#irk dh ijEijk 

 (ii) Convention of full disclosure  

  iw.kZ izdVhdj.k dh ijEijk 

 (iii) Limitations of Financial Accounting  

  foÙkh; ys[kkadu dh lhek,¡  
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Q.8 Enter the following transaction in the three columnar Cash Book of “Das and company” 

          2018 

 March 1: Balance: cash `2000 and Bank-overdraft `48000. 

 March 2: Introduced additional capital of `48000. 

 March 5: Deposited `32000 in the Bank.   

 March 8: Received from Raman `3560 in full settlement of his account of `3600. 

 March 12: Paid `4800 to Girdhar who allowed discount of `120. 

 March 15: Bought goods for cash `2800.  

 March 18: Purchased Furniture by cheque `6000. 

 March 19: Received a cheque of `920 from Sohan in full settlement of the debt of 

`1000. 

 March 25: Withdrew from bank for personal use `1200. 

 March 28: Purchased goods from Hari for `10,000 at a trade discount of 10% and paid 

him by cheque after deducting `100 cash discount.   

 March 30: Allowance claimed from Kamal on account of mistake in invoice `400. 

 fuEufyf[kr O;ogkjksa dks f=LrEHkh; jksdM+ iqfLrdk ¼nkl ,.M dEiuh½ esa ntZ dhft;s%  

 2018  

 ekpZ 1: 'ks"k% jksdM+ 2000 ` rFkk cSad vf/kfod"kZ 48000 `.   

 ekpZ 2: O;kikj esa vfrfjDr iw¡th yxk;h 48000 `. 

 ekpZ 5: cSad esa udn jkf’k tek djk;h 32000 `. 

 ekpZ 8: je.k ls mlds cdk;k 3600 ` ds isVs¼le>kSrk½ 3560 ` izkIr fd;sA 

 ekpZ 12: fxj/kj dks 4800 `udn pqdk;s mlls 120 `dk cÍk izkIr fd;kA 

 ekpZ 15: 2800 `dk eky [kjhnkA 

 ekpZ 18: 6000 ` dk QuhZpj [kjhnk ftldk Hkqxrku pSd ls fd;kA  

 ekpZ 19: lksgu ls muds [kkrs ds iw.kZ fuiVkjs 1000 ` ds isVs¼le>kSrk½ 920 `dk pSd feykA 

 ekpZ 25: futh iz;ksx ds fy, cSad ls fudkys 1200 `. 

 ekpZ 28:  gfj ls 10000 `dk eky 10% O;kikfjd cV~Vss ls [kjhnk vkSj 100 `dk udn cÍk 

dkVdj 'ks"k dk Hkqxrku pSd ls fd;kA  

 ekpZ 30: chtd esa =qfV gksus ls 400 ` dk nkok dey ls fd;kA  
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OR @@@@vFkokvFkokvFkokvFkok 

 Give the names of main subsidiary books to record credit transactions and also give the 

brief description of each subsidiary book.  

 m/kkj ysunsuksa dh izkjfEed izfof"V;ksa djus ds fy, iz;ksx dh tkus okyh izeq[k lgk;d iqLrdksa ds 

uke fyf[k;s rFkk izR;sd dk laf{kIr fooj.k Hkh nhft;sA  

Q.9 From the following particulars, ascertain the balance as per Cash Book of Shankar on 

31st Dec. 2018 by preparing a bank reconciliation statement on that date: 

 (i) Debit balance as per pass Book on 31st Dec. 2018 `10,108. 

 (ii) Interest on bank overdraft for six months, not recorded in Cash Book `210. 

 (iii) Bank charges not recorded in cash Book `20. 

 (iv) Cheques deposited with bank but not yet cleared `5385. 

 (v) Cheques drawn but not yet presented for payment `2170. 

 (vi) Rent collected by Bank on behalf of Shankar but not entered in Cash Book `105. 

 (vii) Insurance premium paid by bank according to standing order of Shankar but not 

recorded in cash Book `250. 

 (viii) A cheque received from Sohan deposited with bank but dishonored, the advice of 

which was received on 2nd January, 2019. Amounting `500. 

 fuEufyf[kr fooj.kkas ls cSad lek/kku fooj.k i= cukdj ;g Kkr dhft;s fd 31 fnlEcj 2018 dks 

'kadj dh jksdM+ cgh esa D;k 'ks"k gksuk pkfg, & 

 (i) 31 fnlEcj 2018 dks ikl cqd ds vuqlkj MsfcV 'ks"k 10,108 `. 

 (ii) cSad vf/kfod"kZ ij N% ekg dk C;kt ftldh jksdM+ cgh esa izfof"V ugha gqbZ 210 `. 

 (iii) cSad 'kqYd ftldh jksdM+ cgh esa izfof"V ugha gqbZ 20 `. 

 (iv) cSad esa pSd tek djk;s fdUrq ikl cqd esa tek ugha gqbZ `5385. 

     (v) pSd vkâr fd;k fdUrq izLrqr ugha fd;k x;k jkf’k `2170. 

 (vi) pSd }kjk 'kadj dh rjQ ls fdjk;k ,df=r fd;k x;k fdUrq jksdM+ cgh esa ntZ ugha gqvk 

105`.  

 (vii) cSad us 'kadj ds LFkk;h vkns’k ds vuqlkj chek & izhfe;e pqdk;k fdUrq jksdM++ cgh esa izfof"V 

ugha gqbZ 250 `. 

 (viii) lksgu ls izkIr ,d pSd dks cSad esa tek djk;k tks vizfrf"Br gks x;k ftldh lwpuk            

02-01-2019 dks izkIr gqbZ 500 `.  
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OR @@@@vFkokvFkokvFkokvFkok 

 What is “Written Down Value Method” of providing depreciation? How does it differ 

from “Straight Line Method”? Give advantages and disadvantages of Written Down 

Value Method.  

 ewY; âkl vifyf[kr djus dh ^^Øekxr ewY; âkl fof/k^^ D;k gS\ ;g ^^LFkk;h fdLr i)fr^^ ls fdl 

izdkj fHké gS\ Øekxr ewY; âkl fof/k ds ykHk o gkfu;k¡ crkvksA  

Q.10 What do you mean by closing entries and opening entries? Illustrate the difference 

between closing entries and opening entries.  

 vfUre izfof"V;ksa rFkk izkjfEHkd izfof"V;ksa ls vkidk D;k rkRi;Z gS\ vfUre izfof"V;ksa ,oa izkjfEHkd 

izfof"V;ksa esa mnkgj.k lfgr vUrj Li"V dhft,A  

OR @@@@vFkokvFkokvFkokvFkok 

 Illustrate the different forms of Marshalling of balance sheet. Arrange following items 

in both form of Marshalling of balance sheet.  

 fpVBs dks ^Øe c)^ djus ds fofHké izk#iksa dks le>kb;sA fuEu enksa dks fofHké izk#iksa esa Øec) 

dfj;sA  

 Goodwill;   Cash At Bank;    B/P;    Loan Taken;    Capital;    Land And Buildings; 

Prepaid Exps;  Sundry Debtors;   Sundry Creditors;   Outstanding Exps;  Bank Overdraft; 

Cash in Hand;  B/R; Stock;   Stores;   Investments;  Furniture; Plant and Machinery; 

Trade Mark.  

[;kfr] cSad esa udnh] fcy ns;] dtZ fy;k] iwath] tehu vkSj bekjrsa] iwoZnÙk O;;] fofo/k nsunkj] 

fofo/k ysunkj] vnÙk O;;] cSad vksojMªk¶V] udn] fcy çkI;] LdU/k] HkaMkj] iwath & fuos'k] QuhZpj] 

la;a= vkSj e'khusa] VªsMekdZA  
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Q.11 A Fire occurred in the premises of Shri Ganesh on 1st April 2018 and a considerable part 

of the stock was destroyed. The stock salvaged was `1, 12,000. Shri Ganesh had taken 

a fire insurance policy for `6, 84,000 to cover the loss of stock by fire.  

 1 vizSy 2018 dks Jh x.ks’k ds Hkou esa vkx yxus ds dkj.k cgqr vf/kd ek=k esa LVkWd tydj u"V 

gks x;kA cpk gqvk LVkWd 1, 12,000 `dk FkkA Jh x.ks’k us vkx yxus ls gqbZ gkfu dh iwfrZ ds fy, 

6, 84,000 `dh vfXu chek ikWfylh yh FkhA   

 You are required to ascertain the insurance claim due from the insurance company for 

the loss of stock by fire. The following particulars are available:   

 vkidks vkx yxus ls gqbZ gkfu dh iwfrZ ds fy, chek dEiuh ls yh tkus okyh nkos dh jkf’k Kkr 

djuh gSA miyC/k lwpuk,¡ fuEufyf[kr gS%  

       ` 

 (i) Purchases for the year 2017     37, 52,000 

 (ii) Sales for the year 2017      46, 40,000 

 (iii) Purchases form 1st January 2018 to 1st April 2018   7, 28,000 

 (iv) Sales from 1st January 2018 to 1st April 2018     9, 60,000 

 (v) Stock on 1st January 2018         5, 76,000 

 (vi) Stock on 31st December 2017        9, 68,000 

 (vii) Wages paid during the year 2017       4, 00,000 

 (viii) Wages paid form 1st January 2018 to 1st April 2018        72,000 

 Shri Ganesh had in June 2017 consigned goods worth `2, 00,000 which were lost in an 

accident. As there was no insurance the loss was borne by him in full. 
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 twu 2017 dks Jh x.ks’k us 2, 00,000 `ewY; dk eky izsf"kr fd;k tks nq?kZVuk esa u"V gks x;kA ml 

eky dk chek u gksus ds dkj.k leLr gkfu Jh x.ks’k }kjk gh ogu dh xbZA   

 Stock at end of each year for and till the end of calendar year 2016 had been valued at 

cost less 10%. From 2017 however, these was a change in the valuation of closing stock 

which was ascertained by adding 10% to its cost. 

 LVkWd izR;sd o"kZ ds vUr esa rFkk o"kZ 2016 dh lekfIr rd ykxr ls 10% de ij ewY;kafdr fd;k 

tkrk FkkA o"kZ 2017 ls vfUre LVkWd ds ewY; esa ifjorZu fd;k x;k tks ykxr ij 10% tksM+dj 

fd;k x;kA     

OR @@@@vFkokvFkokvFkokvFkok 

  What are adjustment entries? Why are these necessary for preparing the final accounts?   

 lek;kstu izfof"V;k¡ D;k gS\ vfUre ys[kksa dks rS;kj djus ds fy, ;s D;ksa vko’;d gS\ 

 

---------------------------------------- 

 


